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Sample Paper – 2011
Class – XII
Subject - Accountancy
           MAX- MARKS :50

             All questions are compulsory and marks are written against it:-

Q1-Explain term legacy, annuity fund? (1)
Q2-State 2 condition when fixed capital go changed. (1)
Q3-X and Y agreed to share profit as follows-first 8000 to X , and balance in the ratio of 
       2:1.The profit for the year is 11600.The opening capital being X Rs 40000, 
       Y- 36000.Interest on capital had been omitted from the books and allowed  
        at 5%p.a.Adjust  the same.(1)
Q4-Show how will you deal with  the following items in final accounts of a club-

          Match expenses-6 lacks, match fund-2.50 lacks, donation for match fund-3.0 lacks,  match prize awarded-.46 lacks, sale of match tickets-30000.(1)

Q5-calculate GP ratio ratio from the following information:-

        Average stock- 75000, stock turnover ratio-5 times, selling price25%above cost.(1)

Q6-Give an example which results in increase in liquid ratio but no change in current ratio.(1)

Q7-What is cash equivalent?(1)

Q8-(a)Give 1examples of capital receipt, revenue receipt.
       (b) Show how you deal with the prize fund of Altd.- 
             Prize fund-250000,prize fund investment-250000,income from prize fund
              investment-25000, prize awarded from sale of investment at par-75000.(2+1=3)

Q9- Calculate  the amount will be posted to I/Exp.a/c  for the year ended  31st December 2007 for stationery.

                   Stock of stationary on 1st  Jan -2009—600

                   Creditor for stationary on 1st  Jan 2009—300

                   Advances paid for stationery  carried forward  from 2008—120

                   Total amount paid for stationery  during  the year2009---2000

                    Stock of stationery  on 31st  December 2009---800

                    Creditors for stationery  on 31st December 2009---290

                    Advances paid for stationery  on 31st December,2009---200   (3)    
Q10
            The Following are the B/S of A Ltd.                                                                 

	Liabilities
	2006
	2007
	Assets
	2006
	2007

	Equity Share capital

Share Premium

Accumulated depreciation

Profit & Loss A/c

10% Debentures

Creditors

Provision for taxation

Proposed dividend
	12000

  ---

5600

4000

6000

5600

2000

600
	16000

400

6000

12000

4000

4400

4000

800
	Land

Plant

Stock

Debtors

Bank

Cash
	8800

16000

5600

4000

1000

400
	11400

18000

6000

6000

6000

200


Calculate cash from operating activities from the given information.   (3)   

Q11-Robson, Roshan and Shrey entered into partnership on 1st Jan 2003 to share 

              profits and losses in the ratio 5:3:2. Robson however, personally guaranteed that 

              Shrey’s share of profits, after charging interest on capital @ 5 % p.a would not 

              be less than Rs.15,000 in any year.

         The capital was provided as follows:


Robson
         Rs.1,60,000


Roshan
         Rs.1,00,000


Shrey
                      Rs 80,000

The profit for the year ended 31st Dec.2003 amounted to Rs.77,000 before providing interest on capital. Prepare Profit and Loss appropriation account.   (1+3=4)    
Q12 (a) Calculate debtor turnover ratio and average collection period  from the following information-

        Total sales- 840000, cash sale  is 40% of  credit sales , closing debtors 100000 
              opening debtor 4/5  of closing debtors.  

          (b)-State objective of ratio analysis? (4)
Q13- Calculate Return on Investment and Earning Per Share from the following information                            

	Equity Shares (30000 shares@ Rs 10 each)

9% Preference Shares

Security Premium

General Reserve

10% Debentures

Other Current Assets

Operating Expenses

Cost of Goods Sold

Net Sales

Interest

Income Tax
	300000

400000

30000

10000

200000

110000

25000

30000

220000

20000

50%


                                                                                                                  (4)

 Q14-  A,B and C were partners in a firm. On 1st Jan.05 their capitals  

           stood at Rs.50000,Rs.25000 and Rs.25000 res. As per the provisions of the 
(4)

 Q14-  A,B and C were partners in a firm. On 1st Jan.05 their capitals  

           stood at Rs.50000,Rs.25000 and Rs.25000 res. As per the provisions of the 
          partnership deed:
         (a) C was entitled for a salary of Rs.1500 per month.

         (b) Partners were entitled to interest on capital @5% per annum.

         (c) Profits were to be shared in the ratio of capitals.

      The net profit during the year 2005 of Rs. 45000 was divided equally without 
       providing for the above items.pass an adjustment entry to rectify the above error.

                                                                                                                       04
15-The following particulars relate to Muscat Club for the year ended 31st Dec., 2006:

Receipts and Payments Account for the year ending 31-12-2006

	Receipts
	Rs.
	Payment
	Rs.

	To Balance b/f

To Subscriptions:

   2005                      48     

   2006                 2,532 

   2007                      96 

To Profit from Canteen 

To Dividends


	1,200

2,676

   1,890

1,194


	By Salaries 

By Stationery 

By Rates and Taxes 

By Telephone

By Investments

By Advertisements

By Postage

By Wages

By Balance c/d
	2,490

    480

    720

120

     1,500

     210

200

     700

     540



	
	6,960
	
	6.960


  You are required to prepare an Income and Expenditure Account and a Balance   

   Sheet after  making the following adjustments:

(i) There are 450 members each paying an annual subscription of Rs.6. Rs.54 being in arrears for 2005at the beginning of this year.

(ii) Stock of Stationary on 31st Dec 2005 was Rs.100 and on 31st Dec., 2006 Rs.88.

(iii) Cost of buildings is Rs.25,000 . Depreciate it at 10%.
(6)

Q16-    The Net income of Maria Ltd. for the year ended March 31, 2007 was Rs. 
            4,89,000.Depreciation charged for the year was Rs. 87,000 . Income for the 
            year   was  arrived at after adjusting for gain on sale of land Rs.1,05,000,  

             loss on sale of equipment Rs.48,000 and writing off cost of equity issue Rs. 25,000. 
              The current assets and current liabilities of Maria Ltd. as at March 31,2006 and 2007 
                are given below:

                                                                            March 31,2006                March 31,2007

Stock                                                                    1,85,000                            1,67,000

Receivables                                                          1,42,000                            1,45,000
Prepaid Expenses                                                    12,000                                 8,000

Cash in hand and at bank                                        87,000                            1,02,000
Payables                                                                  95,000                            1,07,000

             Expenses outstanding                                            30,000

              45,000


Accrued Income



                  9,000

                7000

          Prepare Cash Flow Statement showing Operating Activities. (6)
Q17-
From the following Receipts and Payment account of a club and from the      

   additional information, prepare Income and expenditure account and B/S on 31.12.06.

	Receipts
	Amt
	Payments
	Amt

	To Balance b/d

To Subscriptions:

2005                  500

2006                2000

2007                  400

To Rent 

To Profit from entertainment

To sale of Old News papers
	700

2900

1400

800

200
	By salaries

By general Exp.

By Electric Charges

By books

By Newspapers

By Balance c/d
	2800

600

400

1000

800

400


(a) The Club has 50 members each paying an annual subscription of Rs.50 each, subscriptions outstanding on 31st dec.05 were Rs.600.

(b) On 31.12.06, Salaries outstanding amounted to Rs.200, Salaries paid in 2006 included Rs.600 for the year 2005.

(c) On 1.1.06 club owned Buildings valued at Rs.20000, Furniture Rs.2000 and Books Rs.2000.

(d) Provide depreciation on Furniture at 10%.                                   (6)
                                           OR
17-State  3  differences  between Cash book and R/P,R/P and I/E?

                          Assignment 
                              Chapter 1-partnership-(fundamental)
Fundamental
1 R, S and T entered into a partnership of manufacturing and distributing educational CDs on April 1, 2007.  R looked after the business development, S content development and T financed the project.  At the end of the year (31.3.2008) R wanted a salary of Rs. 5,000 per month for the additional work he did.  The other partners were not inclined to this.  How would you resolve this within the ambit of the Indian Partnership Act 1932?

2 State the conditions under which the capital balances many change under the system of a fixed capital account.

3 State one difference between Fixed capital account and Fluctuating capital account of partners.

4 A, B and C are partners in a firm having no partnership agreement.  A, B and C contributed Rs. 4,00,000, Rs.6,00,000 and Rs. 1,50,000 respectively.  A and B desire that profits should be divided in the ratio of capital contribution.  C does not agree to this.  How will you settle the dispute?

5 List two items that may appear on the credit side of a partner’s capital account.

6 C and D are partners in a firm without a partnership deed.  C’s capital is Rs. 50,000 and D’s Capital is Rs. 70,000.  C has advanced a loan of Rs. 50,000 and claims interest @ 12% p.a. on it.  State with reason whether his claim is valid or not.

7 A and B are partners in a firm without a partnership deed.  A is an active partner and claims a salary of Rs. 18,000 per month.  State with reason whether the claim is valid or not.

8 S and R are partners in a firm with capitals of Rs. 3,00,000 and Rs. 4,00,000 respectively.  They do not have a partnership deed. R wants to share the profits in the ratio of capitals.  State with reason whether the claim is valid?


     Q9-State 2 condition when fixed capital go changed. (1)

     10--X and Y agreed to share profit as follows-first 8000 to X , and balance in the ratio of 

       2:1.The profit for the year is 11600.The opening capital being X Rs 40000, 

       Y- 36000.Interest on capital had been omitted from the books and allowed  

        at 5%p.a.Adjust  the same.(1)

Fundamental  partnership-(1+4)
             1-D and S are partners sharing profit and loss in the ratio of 3:2 with capital of Rs 400,000 and Rs.300,000 respectively. Interest on capital agreed at 6%p.a. S  is allowed a salary of Rs 3,000 per month. During 2006, profit prior to Interest and Salary amounts to Rs 232,000. Manager is to be  allowed a commission of 10% of the Divisible profit. Prepare an account showing the allocation of   the profit.                        
Q.2-.A,B and c were partners in a firm. On 1st Jan.05 their capitals                               04
  stood at Rs.50000,Rs.25000 and Rs.25000 res. As per the provisions of the partnership deed:

(a) C was entitled for a salary of Rs.1500 per month.

(b) Partners were entitled to interest on capital @5% per annum.

(c) Profits were to be shared in the ratio of capitals.

The net profit during the year 2005 of Rs. 45000 was divided equally without providing for the above items.pass an adjustment entry to rectify the above error.
3-X, Y and Z are partners in a firm sharing profits in the ratio of 5:3:2. They decide to share future profits and losses in the ratio of 2:3:5 with effect from 1st April, 2006. They also decide to record the effect of the following revaluations without affecting the book values of the assets and liabilities, by passing a single adjustment entry:

                                                                              Book Value                             Revalued Value

                                                                                  Rs.                                              Rs.

 Land and Building                                                1,00,000                                      1,50,000

Plant and Machinery                                              1,50,000                                      1,40,000

Trade Creditors                                                         50,000                                         45,000

Outstanding Expenses                                               45,000                                         60,000         (4)
	4-
	Colgate and Promise are partners in a firm.  They withdrew Rs. 96,000 and Rs. 72,000 respectively during the year evenly at the end of every month.  According to the Partnership agreement, interest on drawings is to be charged @5% p.a.  Write the appropriate formula for calculating Interest on drawings.



	Robson, Roshan and Shrey entered into partnership on 1st Jan 2003 to share profits and losses in the ratio 5:3:2. Robson however, personally guaranteed that Shrey’s share of profits, after charging interest on capital @ 5 % p.a would not be less than Rs.15,000 in any year.
The capital was provided as follows:


Robson
         Rs.1,60,000


Roshan
         Rs.1,00,000

Shrey
         Rs    80,000

The profit for the year ended 31st Dec.2003 amounted to Rs.77,000 before providing interest on capital. Prepare Profit and Loss appropriation account.          

                                                            
	3


5-.   Waseem, Mussamil and Saurabh are partners in a firm, their profit sharing ratio is 

      3:2:1. However Saurabh is guaranteed a minimum amount of Rs.10,000 as share of  

      Profits every year. Any deficiency arising on that account shall be met by Waseem 

      and Mussamil in the profit sharing ratio. The profits for the two years ending 31st 

      December 2006 and 2007 were Rs.30,000 and Rs.90,000 respectively. Prepare Profit appropriation a/c.
6-Satish ,Anu and Manoj are partners in a firm. Balances of their capitalas on 1st april 1998  were Rs25000,  Rs 15000 and 5000 respectively. The partnership agreement provides :-

1- manoj shall be credited  with a salary of Rs 300 pm. 

2- interest on capital is allowed @10% per annum  and interest  on drawing  charged  is @ 15% p.a

3-after providing (1) and (2) mentioned above and after making a provision  for extra  remuneration  mentioned above in this para(3).Manoj  shall be entitled  to 5%   of all profits in excess  of Rs 7000.

4- Anu is to have 1/5 of profit after charging all amounts  under(1) to (3) above and in this para(4).The balance  of profits  to be divided  between  Satish and Manoj  in the ratio  of 7:1 respectively.  
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